THINK TEEN -VOCABULARY EXERCISES-LESSON 3
Fill in the gaps with following words 
(landmark, brick, marble, soil, foundation, awe-inspiring, riot, shallow, pillar, feature, accustomed , vertical, halt, declare, attempt, holy, install, stable, lean, distinctive, venue, composed , at full sail, construction)
1.The injured man was in a …………………stable …………………………………… condition.
2. The thieves made an …………………attempt ……………………..to escape.
3. The ………………marble …………………………statues were taken to the British museum.
4. It is a quiet, typically Dutch town, with its old, red ………brick……………… houses.
5. The White House  is a national historical ………………landmark ……………….
6. After the torrential rain the …………soil ……………………………………..was wet.
7. The two countries …………………declare ………………………..war against one another.
8. His eyes were by far the most attractive ……feature ……………………… on his face.
9. The church of the …………holy……………………..Trinity  is an old building in the center of the village.
10. Police used  tear gas to put the ………riot…………………………………………down.
11. The Μaths teacher asked the students to draw a ……vertical …………………………line.
12. I ……………………lean………………………….back in my chair.
13. The band will be playing at 7  different ……venues ……………………….. on their USA  tour.
14. The ………………construction ……………………………………of the new motorway will start next week.
15. The builders are now beginning to lay the …foundations…………………………… of the new school.
16. Dalmatian dogs have very …………………distinctive……………….black spots on their skin.
17. The ship was moving …………………at  full sail……………………………………….
18. Water is………………composed …………………………… of hydrogen and oxygen.
19. I may need some help to ………install……………………..this new programme on my computer.
20. Due to the workers strike the local buses came to a ……halt …………………………….
21. The Taj Mahal in India is a massive, ……………………awe-inspiring ………………………structure.
22. He’s …………………………accustomed ………………………………….to eating spicy food since he lived in Mexico for 10 years.
23. The waiter served their food in a ……shallow ……………………………………..plate.
24.The roof is supported by four……………pillars ………………………………………………
